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Question Number : 1 Question Id : 6981772449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The development proceeding in the longitudinal direction, 1.e. head to foot 13

called as:
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Options :

Spiral tendency of development
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Proximo-distal tendeney of development
HE0% BrES Db BP5H

2. % ®
Cephalo-caudal tendency of development
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General to specific tendency of development
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Question Number : 2 Question Id : 6981772450 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The tests containing items which are common to all cultures are
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Question Number : 3 Question Id : 6981772451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following
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A)  Repression L
Ssado

B)  Decay 1.
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C) Proactive 111,
interference
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D} Retroactive 1v.
interference
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Options :

A-1; B-iv; C-1n; D-1

1. %

A-11: B-1: C-1v: D-111
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A-m: B-1: C-1v: D-1n
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A-iv; B-1; C-11; D-1m1
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Information that 1s not accessed fadez gver
time
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Question Number : 4 Question Id : 6981772452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Heredity 18

Options :

Only Biological
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Question Number : 5 Question Id : 6981772453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Young children learn basic acceptable social behaviour from their parents. They
learn what 1s right and wrong from an adult’s authority and by avoiding
punishment. According to Kohlberg. this behaviour 1s observed in this level
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Conventional morality
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Post Conventional morality
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Pre Conventional morality
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Question Number : 6 Question Id : 6981772454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Compulsory working days in an academic year at the primary level and the
elementary level respectively, as per the RTE Act, 2000
RTE &0, 2009 5780, 2.8 0555 Hos8)Bos® @reans Spom, JOHotd

- £ ot ot Pkl T el Tyt
APond” B Bledy ESES s Ny f‘ﬁoﬁ.‘dma



Options :

200, 150

Question Number : 7 Question Id : 6981772455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a child has a mental age of 5 years and chronological age of 4 years, then
the 1Q of child
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Question Number : 8 Question Id : 6981772456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Certain behaviour patterns of children are usually found to be similar to adults

around them’. Bandura stated that this learning occurs due to
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Question Number : 9 Question Id : 6981772457 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following activity 1s NOT associated with Interactive-phase of
teaching?
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Options :

Motivating students for lesson
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Knowing the learners
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Selection of the content to be taught
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Presentation of the lesson
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Question Number : 10 Question Id : 6981772458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s a characteristic of conventional learning
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Emphasis on independent study
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Students learn through experience and observation
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Students learn through discovery
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Students learn though rote memory
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Question Number : 11 Question Id : 6981772459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is purely because of maturation
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Options :

Uttering first words by an infant

B0D 0t Htren Hendio

Sucking by new born

Hsdemds 3405) B0



Kicking a ball by a child
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Controlling of emotions by an adolescent
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Question Number : 12 Question Id : 6981772460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement based on the fact that the potentiality of an

individual 1s what 1s inherited from the parents at the time of conception
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As parents pass the genes directly to the child, they always match on
potentialities.
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In the preparatory stage teachers can plan the learning activities of the
child based on the abilities of the child's parents
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Inheritance of traits 1s a matter of chance and therefore there may be lot
of variation in the potentialities of the parent and the child.
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Well planned activities can help the child definitely surpass the parents’

achievement
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Question Number : 13 Question Id : 6981772461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following is correct with regard to ‘period of onset and end of

adolescence stage’
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Options :

Remains same across all cultures
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Falls Between 13 and 19 universally for both boys and girls
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Is not influenced by individual differences
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Variez with culture
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Question Number : 14 Question Id : 6981772462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the task relating to the affective domain among the following
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Playing guitar
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Modifying a design
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Question Number : 15 Question Id : 6981772463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A teacher has given an assignment to her students to imagine and write on the
topie, ‘if there was no water on earth, how would it be’. This assignment 1=
appropriate for students in this stage of Piaget's cognitive development
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Concrete Operational stage
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Formal Operational stage
@S:OJ"Q I?Jt?“x_?é fal]

2.
Pre-conceptual phase
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Intuitive phase
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Question Number : 16 Question Id : 6981772464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT sztatement relating to Carl Rogers theory of Self

Development
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There are six stages of development of Self according to Carl Rogers.
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1.¢
Development of Self 1s based purely on one’s own personal experiences.
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An individual's Self determines the process of growth, development and
appropriate adjustment to environment.
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Development of an unreasonable ideal self or false zelf image leads to
maladjustment.
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Question Number : 17 Question Id : 6981772465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A person was given a paper with some random lines cribbled on 1t. Using all

those lines he has created an innovative picture. The thinking of the person

here 13
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Convergent
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Question Number : 18 Question Id : 6981772466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A teacher wanted his students to get inspired by a boy who was awarded for a
brave act. He hence asked the students to know about the feelings of that boy.

The best method to capture the feelings of the boy 1s
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Interview
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Introspection
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Question Number : 19 Question Id : 6981772467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Learning that 1s mainly based on ‘thinking’ belongs to this domain
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Psycho-motor
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Question Number : 20 Question Id : 6981772468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A child was locked inside the house in a top floor. He banged the door but did
not get response. He thought that if he pours water on the floor, 1t flows down
from the stairs and someone may help him and poured water. Seeing the water
flowing down the stairs, the watchman came and helped the boy come out. This

15 an example of this learning theory
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Trial and Error
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Insightful
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Question Number : 21 Question Id : 6981772469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A preschool teacher has taken her students to a zoo and showed animals. The
next day, she showed plctures of the animals they saw to know how many they
could remember. The method uzed by the teacher 1z
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Question Number : 22 Question Id : 6981772470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person who learned driving in his own country moved to another country that

has exactly opposite road rules. The difficulty experienced by the person in

driving in the new country is due to
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Negative transfer of learning
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Positive transfer of learning
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Zero transfer of learning
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Question Number : 23 Question Id : 6981772471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Pedagogic practices shall address the inequalities that arizse from

D B0 AET 8S5PEseH S5 albne $HBoTd
Options :
culture & language only
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Question Number : 24 Question Id : 6981772472 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From the following, identify the one that does NOT spell out gifted

#
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At 8 years of age, Naren has won in the international Painting
Olympics competition
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At 15 vears of age. Parthu has graduated in Chemaistry
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At 16 years of age, Nitin has passed Class X examination
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At 14 years of age, Urvi's experimental 1dea got selected by NASA
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Question Number : 25 Question Id : 6981772473 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Teachers who practice enquiry based method believe that learning 1s effective,
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Direct instruction
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Demonstration
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Discovery
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Question Number : 26 Question Id : 6981772474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To develop ‘learning to learn’ skills teachers should
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control the learning of students
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encourage students to organize one’s own learning
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prepare students for written examinations

e amé_,éa DIPDeN Bdo BETRD
4 W% 2@ [~



Question Number : 27 Question Id : 6981772475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the elements that are NOT part of Bruner's theory
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Options :

Linear Curriculum
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Enactive, Iconic & Symbolic Modes of Representation
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Question Number : 28 Question Id : 6981772476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Learning to make relationships begins at
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Question Number : 29 Question Id : 6981772477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After 20 years of service, Swetha 1z not remembered by any of her students as
she did not try to involve students in class, never gave guidance to students.
Swetha's leadership style 1s
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Question Number : 30 Question Id : 6981772478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the behavioural problems among the following
Bob B& R8T Haudesd iD8odol
A) Aggression
(v ShTecy
B) Abusive language
C) Achievement anxiety
E"’-‘L’;":n“"j 'f‘é-:::-ﬁ-{%{n“‘:
D} Impatience
PSP Ty
Options :

ABC&D
1.



A & Bonly
A & B srgsd

E

A B & Donly
A, B& Dsrgad

A, C& Donly
A C& Dirgd

Language I Telugu

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Id : 6981772479 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

69817776
2

Online
Mandatory
22

22

30

Yes

0

1
698177124
Yes

null



Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)
Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6981772480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 6981772481 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 6981772482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 6981772483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 6981772484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:
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2
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null

Question Id : 6981772485 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)

Question Label : Comprehension
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Question Number : 36 Question Id : 6981772486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 6981772487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981772488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 6981772489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 6981772490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3



Sub-Section Id : 698177126
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 6981772491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 6981772492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 6981772493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 6981772494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 6981772495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 6981772496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 6981772497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 6981772498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 6981772499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981772500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 51 Question Id : 6981772501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 6981772502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 6981772503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 6981772504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981772505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981772506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981772507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981772508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 6981772509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 6981772510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Language II English
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Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

69817777
3

Online
Mandatory
26

26

30

Yes

0

1
698177127
Yes

null

Question Id : 6981772511 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the correct

option for each question.

Isaac Newton was born in Lincolnshire, England, i 1643. His father died before he
was born but, despite having a difficult childhood, he gained a place at Cambridge
University. When the plague broke out, he was forced to stay at home and, with so much free
time on his hands, Newton started to wonder about what made things fall. Newton said that
he was inspired to think about forces when he saw an apple fall from a tree. He came up with
the theory of gravity, an nvisible force that pulls all of the objects in the Universe together,
and the reason things don’t float off into the sky. In 1685, Newton deseribed his Laws of
Motion — a mathematical guide to how an object’s movement 15 affected by speed and mass.
Two years later, Newton published his ideas about gravity in a book which contains many of
the foundations of modern science. Newton also nvented a new kind of telescope called a
reflector. It used a mirror to collect light instead of lenses, and was much more powerful than
existing telescopes. He also showed that white light was made up of all the colours of the

rainbow.

Sub questions

Question Number : 61 Question Id : 6981772512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Isaac published a book about gravity in the year
Options :
1687

1.9

1685



3 % 1666

1686
]

Question Number : 62 Question Id : 6981772513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Newton’s telescope. light 1s captured in the reflector by using
Options :

., sopper plate

zinc plate

mirror

lenses

Question Number : 63 Question Id : 6981772514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Newton, things are not floating off into the sky because

Options :

1.



an invisible force that throws all the objects in the Universe separately.
“

an invisible force that throws out all the objects in the Universe.

a visible force that pulls all the objects 1n the Universe together.

an invisible force that pulls all the objects in the Universe together.
4.+

Question Number : 64 Question Id : 6981772515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Newton was curious about
Options :

making a telescope.

what caused things to fall.

2. %

the cause for the outbreak of the plague.

how to get admission at Cambridge University.



Question Number : 65 Question Id : 6981772516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Newton's “Laws of Motion™ describe how an object’s motion 1s affected by
Options :

telescope.

the colours of the rainbow.

2. %
speed and mass.
3.
speed and temperature.
4, %
Sub-Section Number : 2
Sub-Section Id : 698177128
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 66 Question Id : 6981772517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

They  sweets after the lunch.
Complete the sentence with correct option.

Options :

offered
1.9



awarded

granted

conferred

Question Number : 67 Question Id : 6981772518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The curriculum was flexible.

Choose the opposite meaning of the word *flexible’
Options:

comfortable
1. %

rigid

agreeable
3. %

convincible
4. %

Question Number : 68 Question Id : 6981772519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part that contains an error in the sentence.

Failures 1s the stepping stones to success.

A B C D

Options :

1.«'-«*’}"L

Question Number : 69 Question Id : 6981772520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The meeting was because of the strike.

Choose the correct option to complete the sentence.

Options :

1 % calls off

> % calling off

call off



4 called off

Question Number : 70 Question Id : 6981772521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the option that best expresses the meaning of the idiom ‘neck and neck’.

Options :

holding the necks

having tough competition

one-sided

tight with necks

Question Number : 71 Question Id : 6981772522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the wrongly spelt word.

Options :

independent



exXpensive
2. %

agitetion
3. v 28

humble

Question Number : 72 Question Id : 6981772523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Where there 15 a will

Complete the saying with correct option.
Options:

their is a way

there 1s a way
2.

there 15 a will

their 1s a wish

Question Number : 73 Question Id : 6981772524 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Pratap said, ‘Brother, please pass the glass.’

Select the sentence 1n indirect speech.

Options :
Pratap requested his brother to pass the glass.

1.+

. Pratap said his brother pass the glass.

Pratap request his brother to passed the glass.

Pratap ask brother to pass the glass.
4, %

Question Number : 74 Question Id : 6981772525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Education discipline 1s useless.

Fill in the blank with the appropriate option.

Options :

1 % through

within

with



without
4.

Question Number : 75 Question Id : 6981772526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Deepika was reading a book.

Select the sentence in passive voice.
Options :

A book is reading by Deepika.

A book is read by Deepika.

" A book was being read by Deepika.

Deepika was read by a book.

Question Number : 76 Question Id : 6981772527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.

Options :



Nature 1s best the teacher.

We enjoy dinner together.

2. ¥

We went the to cinema.

Always the speak truth.

Question Number : 77 Question Id

: 6981772528 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

I know good you are.

Fill in the blank with the correct option.

Options :

1« how

it

this

what
)

Question Number : 78 Question Id

: 6981772529 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Our school has a playground.

Fill in the blank with the appropriate option.
Options:

longest

lane

length

4V large

Question Number : 79 Question Id : 6981772530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options:

He was always. happy energetic and positive.
1. %

He was always happy. energetic and positive.

He was always happy. energetic, positive.



He was always happy and energetic and positive.

Question Number : 80 Question Id : 6981772531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

There are chapters i this book.

Pick the suitable word to fill in the blank.
Options :

many

much

lower

most

Question Number : 81 Question Id : 6981772532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
What a lovely bouquet of flowers! This sentence 1s a/an
Options :

Imperative Sentence.
1. %



Interrogative Sentence.
2. %

Exclamatory Sentence.
3. ¢

Declarative Sentence.
4, =

Question Number : 82 Question Id : 6981772533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Pick the correct sentence.
Options :

The weather was to hot for us to go out.
1. %

The weather was too hot for us to go out.
2. %

The weather was to hot for us too go out.

The weather was hot for us too go out,
4, %

Question Number : 83 Question Id : 6981772534 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The police on 1llicit drug traffic.

Pick the suitable word to fill in the blank.
Options :

1. cracked down

cracked out

cracked in

cracked on
4, %

Question Number : 84 Question Id : 6981772535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Countries are always 1ssuing stamps to important events.

Fill 1n the blank with the correct option.

Options:

celebrate

“ celebrated

celebrates



celebration

Question Number : 85 Question Id : 6981772536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Reading a word and sensing 1ts meaning without even knowing the alphabet 1s known

as
Options :

Casual reading
1. =

Critical reading
2. #

Graphic reading

Skim reading

Question Number : 86 Question Id : 6981772537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Auditory learners prefer to receive ideas and information by

Options :



hearing or listening them.
1.4

looking at visuals.

reading them.

writing them.

Question Number : 87 Question Id : 6981772538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The test where the students are provided with a passage that has certain words missing

from it.
Options :

Matching test
1. %

5 & Cloze test

Multiple Choice Question Test

As Directed Test



Question Number : 88 Question Id : 6981772539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the option NOT related to the sub-skills of writing skill.

Options :

editing and revisiting

1.
punctuation
2. %
guess the meaning of unfamiliar words
3. %
4 handwriting

Question Number : 89 Question Id : 6981772540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Evaluation of learners during the mnstructional process 1s called
Options :

term end evaluation.

formative evaluation.
2. %

summative evaluation.
3. =



annual evaluation.

Question Number : 90 Question Id : 6981772541 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
“In your opinion, how can we eradicate poverty in India?”

The question is an example of

Options :

“Yes” or “No™ question.

1. #
- Open ended question.
3 % Objective type question.

Factual question.
4. %

Mathematics

SectionId : 69817778
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 30



Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177129
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 91 Question Id : 6981772542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A certain freezing process requires the room temperature to be lowered from
48 C at the rate of 6 C every hour. The room temperature after 9 hours of

starting the process 13

0C

—6C

i



Question Number : 92 Question Id : 6981772543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ravi's family consumed 2kg100g sugar in first two weeks of June, 2023. The
total weight (in kg) of the sugar required for Ravi's family for that month is:
=8, 2023 2088 Totd aroed’ 50 Henomo 284w, 1007r. 5,55 JAEPA0D. ©

Bt 52 Sinoerdd esssihah; Fngo 25,0 23 (8.7.08):

Options :

4Kg Eﬂﬂg

45, 2007+,

4Kg 500g

48, S500m.

4Kg 400g
48 . 4007

4Kg 300g
48, e, 3007w,

Question Number : 93 Question Id : 6981772544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following number i1s NOT divisible by 67

Sob aredE® o oy 64 ?%ﬁ;aﬂ_w erhonatits?

35946

[~
|
|
|
]

10804

Question Number : 94 Question Id : 6981772545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Length of a side of a regular polygon 1s 2.5em. If 1t’s perimeter 1s 22.5cm.

Then, the number of sides of that polygon 1s:

&

%f

=,
oJO,

h

e o A T -~ MO . S S Wi N
B war0ehad Gng) a8 dheo &PE 2.5 Vo.db. Hbdn oo Hhepfed 22.
]

ond, 8 2:r0ghE Gng) dhere Sogy:
Options:

1.9 9



Question Number : 95 Question Id : 6981772546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The number of minutes in a day is:
2.8 Bt Got Dare rogy:
Options :

86400

1440

3600

Question Number : 96 Question Id : 6981772547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following alphabet has more than one line of symmetry?

B0l oo prpd sl ooy oo S— L TR T B e TR L . R
Sob woll @E8:red ) o vEdo 256 Bofl 25 el Oped S0 dotnod?

Options:



W

% A

Question Number : 97 Question Id : 6981772548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

HCF of least two-digit odd prime number and greatest four-digit number is:

; Lo - p -
s e TR N L B i e T SRl L
Coty oS g Sodod el ed O aw'r".f'ffu wreniy @oBe N8 ¥ .",.'OEL,:;F_» .8 B i
5 £ :

@y

Options :

Question Number : 98 Question Id : 6981772549 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A piece of wire 1z 18 em. long 12 used to form an equilateral triangle. Then, the
length (in cm) of each side of that equilateral triangle is:

S Y T S N . SR T A S G SR Y SR g S e
o) rlenET TR IH_'S'L'W?E':N:"- EriPobodinras Sunoir o), ©

Question Number : 99 Question Id : 6981772550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

—_—

V34 x 3%=

Options :



Question Number : 100 Question Id : 6981772551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The present age of Sudha’s mother 1s two and half times that of Sudha. After

five years the sum of their ages will be 45 years. Thus, Sudha’s present age (in

years) is

S ad vy AR T g LAY T G S Y -
nen®o ol @SE_: -:uG_JJm:Jc‘; ESHIA) Hdnen

[T
LN

Question Number : 101 Question Id : 6981772552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
100 million can be expressed in Indian system as:
100 2OHED Srotir Hogrsirdos® Bendire:

Options :

1 % 1,00,00,000

5> 10,00,00.000

3 % 10,00,000

1.00,00.00,000

Question Number : 102 Question Id : 6981772553 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A square and a parallelogram have the same area. If a side of the square 1s
30m and the height of the parallelogram is 45m, then the base (in m) of the
parallelogram is:

2.8 StdRo HHdcn &8 Hirodd S@yeo &5 gareryd) 50A eTvyom. S@PFo GWE)

'l-‘n

0.6 gheo P& 308, LBdly Sirosd S@teo J& 45, Lo 3, SErost

S&Sne0 G0E) 3 FED (. o8

=

St

Options :

15



Question Number : 103 Question Id : 6981772554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rajesh has 12 Iitres of milk in his coffee shop. For maling one cup of coffee,
75ml of milk 1s required. The number of cups of coffee can be made with the

available milk by Rajesh 1s:

ToER o opnd” 12 D0 sren &Tow. 8.8 83 o I00meR8, 75 .. dren 05500
Tran wotharénd® &) areos” SdirdH Fchie oo Eape Roy:
Options :
1 ¢ 160
, % 140

180
3. %

120

4. ®

Question Number : 104 Question Id : 6981772555 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mean of first 5 two digit prime numbers 1s:
S065e) 5 Totd ®oSe PTRH Soge Dién:

o

Options :

Question Number : 105 Question Id : 6981772556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The ratio of 120 minutes to 300 seconds 1s:
120 2&pares 300 2555 fo Dap&:

Options :



Question Number : 106 Question Id : 6981772557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If an exterior angle of a triangle is 120 and one of the interior opposite angle

15 70 , the other interior opposite angle is:

o] ]

[] a [ g
® oo oy y i = T G Ly 4 4 Ty Ty gen
2.8 ®ghaos® ePi; B'mo 120 280l &1 wodrrding Fered® .8 Pl dend 70

Options :

1 % 60°

50°

55

70°

Question Number : 107 Question Id : 6981772558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



1821 — 2.01+3.69—-149 =
Options :

18.40

Question Number : 108 Question Id : 6981772559 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a pipe can fill a tank of 40[ capacity in 5 hours. Then, the time required (in
hours) to fill the tank of 68! capacity with the same pipe 1s:
28 39 5 Hobd! 40D o e tro8d J0HHOAS. 68 pHE 680 FHdo 68

Bty o v B o2 L i ;
EP;05: AodRs 58 Hducdo [ho&-a“;).

Options :



los)
= | =

Question Number : 109 Question Id : 6981772560 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The number of rectangular faces in a kaleidoscope 1s:

85 & E\D’ el angre Sletily

Options :
1.¢ i

5
2.% °©
3.% 3
4.% 4

Question Number : 110 Question Id : 6981772561 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Degree of constant term in the trinomial 1s:

t-'}wf“' ?7( + 9x + 10 '&'J&gJ ?‘It 2o o3 ,_,rJ_ nBarao:

Options :



[+

Question Number : 111 Question Id : 6981772562 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whenx = —2and y = 1. the value of x — 2y + 2 is:
x = —2 Hbcin y = 1 wondsd, x% — 2y + 2 Gwsy Deod:
Options :
4
1. #
2.9 A
.
3.% 7°
2
4. %

Question Number : 112 Question Id : 6981772563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements 18 NOT correct?

S0 padored” 0b S0sR?
Options :

—7 15 on the left side of —5 on the number line.

Oy —7, —h A% Q85 TP dodtnob.

Zero 18 a positive integer.

ety A AT
e2ed®y oS (o) o

R
Ealw

"

B

6 1z on the right side of zero on the number line.

o ROTSOND 6 HT8 B FHY Soknod.
3 =
1 13 an integer which lies between -2 and 2.
_ﬂﬁ # P # - 5 s i
1 036 —2 s08din 2 sl 6ok rD Koy,
4, % - gy

Question Number : 113 Question Id : 6981772564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 3

2= £ B=
5 7

Options :

r
=
%]

L]
431



Ik

5, % 35
54

3 % T35
_22
35

4.

Question Number : 114 Question Id : 6981772565 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If each edge of a cube 1s tripled, the number of times 1ts surface area increases

by:

o8 S oo Gn% @& ghao et Bip VHAB, PR EHBEe Farero I Bk
AEoh?

Options :

9
1.4



Question Number : 115 Question Id : 6981772566 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the aspect/s which do/es not help the students to get mastery over in

solving the problems given in the textbook among the following:

8od pfsE, PErpRsantoth 50 Sshdmd H8:BoSmIs @%'m & FBoSKost

Ao SiFdbnid vodo /e Moot

A)  Understanding of concepts related to the problem and followed by
practice of problems given in the exercise.

I

.\.:u:l'ugu 08 }@Ohr CAEEN STV @g@ Zen5Ta) ﬂf_,{:'}'f_ﬁt AL R IS N YN

= o =
oo,

@3

B)  Making students to practice only the solved example problems given in
the textbook
Evloles) caéonﬁ“ a3l PHoDD ETROB SR &R & OrEhed
@ﬁ;?&oé@ FahXo.

C)  Solving every problem given in the form of exercizes in the textbook by
the teacher followed by his/her explanation
FEnsed 5 ERArRe Srod B B8 5D aargrding B, ©
e DB,

D)  Just routinely solving the problems by following the steps involved in it
without understanding the mathematical concepts
R85 rdded ado 38 %or ol & &) Parared 9ddsodsdo e

g~ 8 &
diro@iorr Sshien H8aydoiito.

Options :

A & B only

, A& BirgD
1.



AB&C only
A B & Csrgad

B.C & D only

3 B.C&D Ef;ﬁ_g@}';;-

C & D only
C & D ir@adh

Question Number : 116 Question Id : 6981772567 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The best method to evaluate the answer scripts with objectivity ia:

#

AT e HES:

&
o
£
L)
F;\
[
o
eh
2
s
'EI'.I""\
(3,
&
d
ft-
0
(¥,
ek
]
£y

Options :

Asseszing answer scripts based on principles of evaluation.

#

PR8N i Ete SEPOorT aaPen JETeD B0 achdo.

1.¢
Giving complete freedom to the evaluator to evaluate the answer scripts
in his/her own way.
a3aPan HEPo 8585 886° Sirarobdo FoLmeIE Sireroddo FHards b
Pe8 B30

2.%  °° -

Re-evaluating the answer scripts by the same evaluator.

v - -
srerroShno D

3 % . P o $:86° Sireed HEred 86 srerosbo



4, %

Question Number : 117 Question Id : 6981772568 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Doing student wise and quest-iﬂn wise analysis of marks

TP ﬂP:E:e;- O, [R¥)e a0 &3

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a learner evinces more interest in knowing more about mathematics by

involving himself/herself in various mathematical cocurricular activities, then

we can say that the learner:

2.8 wgribd Nddo (D80t B3 Benih8are

2. ¢

4. %

Separedt $3% @5 Srdtoll, BN B0

-jf:
mﬂ

-
adhdo.

Is more conformed to the syllabus and classroom teaching.

& 116 S55% SBMHED &

oer HP% heon o8dn 88He

‘”i

o

£

@,

[ i) 4 i
& aPanEre 880

~

&5

o

2

+ DA

Has good computational skills

Has good intellectual skalls:

Hood) Need 3 u:x_lc.d,lE":‘ e BOA '5'_5'3:]5:;

£008) HE° Fhewgen EOA ey,

5

o,
D.

as a positive attitude towards mathematics.

]

.
0.

:Yes



Question Number : 118 Question Id : 6981772569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The feature that DOES NOT apply to the mathematies curriculum built on

the spiral approach in the following 1s:

Sob arBS” 58 e Arrio Noth N8 00N Redd artrozeed 280l oFso:

-2 e

Options :

4.+

The content is fragmented into smaller units and will be introduced as
per the learner’s age, maturity level and abilities.
Deadho D%y CrEASenm dFLodal wgrHE H00;, HOBE ffgs‘:n ShBdim

BT Heedo HB8aho Tahath&Eos.

S0i0He SEHBE® Jth 58, voTrur HPHBE00EENE vlsedo adntidod.

The difficulty level and complexity level of content will increase as one
moves from one clazs to the next higher class
2.8 ;:':Jt:& 2.8 #0508 Dol SO0 a5 SON8E 5o 51‘6%&, c-,":u'ij: Co0 g&

-

elotly: ;‘, "0 FBA HoHE ron BHLEOB.

A specific topic 1s introduced in one particular class and finishes in the
same class

2.8 D83 wodo 2.8 VB SBNES’ HdEDhal, o8 SEHES Smihinos.



Question Number : 119 Question Id : 6981772570 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The most appropriate method of teaching to make learners how to approach

word problems for solving which involves complexity 1s:

50886 EPBS T8 Hndnd vrriben Jor FHord FiBoNrl8 eEod ©ngd

W w O

a)(Jes:

G

Options :
Inductive
&0

1. %
Analytic
D35es

2. O
Laboratory

3 % Blenudateels
Deductive

4, ®

Question Number : 120 Question Id : 6981772571 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the preliminary work that the teacher has to do before embarking on

teaching new topics in mathematics among the following:

8o RS HBsostD Fd wodro) S Boddo ;9:‘,\“6505;05: J00th SPTEOWED
BETO @EwE HAJ Kook

A)

E)

A thought on the learning outcomes to be attained by the learners during
the transaction of a lesson.

FT0TR) F803 Hd0Hed & werrien ARGoTO) el Pdered 8FHd
Basio.

Listing of pre-concepts required for the learner to introduce the required
toplc.

58 o) $85aD0 BANTRRS, wrrHhAs 9didRS Gl rdide e
saird ohio.

Mapping of relevant Teaching learning resources.

nonohs Eﬁgﬁjméjﬁé H¥hed hBodto.

Fair 1dea on teaching strategies, approaches and methods to be deployed
for teaching the topie.

w0ad) HH0SEA8 SHAPA0TAN S drgFen, dpparen HBAM Sl bEy
$BaH esbSs 59 sotiio.

Thought on general goals of Education.

iy g,y Prle o5 88758 sodio.

CIIDGSE the correct answer.

2308 esaensd DoHeol:

Options :

1.¢

3.

A, B.C & D only
A, B.C & D &rs

A, C,D& Eonly

g@ACDL‘?;.]L, P&



B.C.D& E only
B,C. D & E sr&s

A B.D & E only
A B.D & Eirgsh

4, %

Environmental Studies
SectionId : 69817779
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177130
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 121 Question Id : 6981772572 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Dilute Iodine solution is used to test the presence of

Lo . “ 5 " — = “ W =
80 &8 HHLoNrI8 See o@PAR FHeD ANarARRMSD
ad [=_% -

-

Options:

Proteins

Fats

5" ad5e0

Minerals

el eTRen

4, ®

Question Number : 122 Question Id : 6981772573 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the correct pair among the following

Sob Bd° 585 i DBodod

Options:

Dentist : Doctor who treats the diseases related to Lungs
g
Godls P 20885 Sonobodd artheh D88, Tn Sthytd
1. %



Pulmonologist :  Doctor who treats the diseases related to Eves

é&-gﬁ&-f% : 20638 Donofodds arytved D58, = Ealavlyey
Cardiologist :  Doctor who treats the diseases related to Heart
5P 8direRS f0oGE RHooofodd argthebh D588 Ja el
3.+ ° i
Orthopaedician : Doctor who treats the diseases related to Nose
& 5;3:&31&’35 DSBS Somobolld Srihes h:@ am Efelviyey
4, %

Question Number : 123 Question Id : 6981772574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rickets diseazes caused due to deficiency of

E.lm é”‘ 8] 56"‘" &:Eﬁ E Wiy &J it Cl'fb
Options :

Vitamin A

. =
oélem A

Vitamin D

oy v, S
oo llcd D

Vitamimn B

3.¢



Vitamin C

L
Déagns C

Question Number : 124 Question Id : 6981772575 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPR 1s performed in an emergency if someone 1s not able to breathe normally,

or their heart has stopped icartilac arrest). CPR stands for
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Options :

Cardio Pulmonary Resuscitation
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Cardio Pressure Respiration
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Cardio Pulmonary Respiration
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Careful Pulmonary Reatart
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Question Number : 125 Question Id : 6981772576 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the Unisexual flower plant among the following
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Options :

Hibiscus

S0oTeEs

Datura
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Ipomoea
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Bitter gourd
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Question Number : 126 Question Id : 6981772577 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement among the following
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Options :



Roots absorb water and minerals from the =oil.

S So ool Ut 080D PAP oD (araton.

The main root of a plant 1s called the taproot.

Leaves hold the plant upright.

3 ¢ @en Zosah AT SothaEron.

The stem transports water from roots to the leaves.
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Question Number : 127 Question Id : 6981772578 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The process of destructing pathogenic micro-organisms in milk
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Options :

Pasteurization
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Question Number : 128 Question Id : 6981772579 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are common for both plants and animals
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Options:

Growth and food malking
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Food making and reproduction
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Reproduction and germination
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Question Number : 129 Question Id : 6981772580 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the fossil fuel among the following
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Charcoal
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Question Number : 130 Question Id : 6981772581 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Increasing its percentage in air causes global warming
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Sulphur dioxide
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Question Number : 131 Question Id : 6981772582 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is present in a small quantity in air?
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Options :

Nitrogen
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Oxygen
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Carbon dioxide
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Water vapour

Question Number : 132 Question Id : 6981772583 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Scientist who discovered the process of blood eirculation in human body is
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Options :

Robert Hoolke

Antonie van Leeuwenhoek
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Alexander Fleming
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William Harvey
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Question Number : 133 Question Id : 6981772584 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These energy sources never get exhausted
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Coal and Water
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Natural gas and Wind
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Wind and Sunlight
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Question Number : 134 Question Id : 6981772585 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From among the following, the world famous Ellora caves were built by
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Options :



Kakatiyas

S Sdines

Vijayanagaras

Sleadmant Treren

Rastrakutas
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Question Number : 135 Question Id : 6981772586 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The only riverine major port in India is
gristdos’ &%) DB $688 Hred P=cho

Options :

Chennai port
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Kolkata port
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Paradeep port
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Mormagao port
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Question Number : 136 Question Id : 6981772587 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ashok would like to travel from Kolkata to Mumbai. So. he has to travel in

this direction
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Question Number : 137 Question Id : 6981772588 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The founder of Adi Hindu Sabha in Hyderabad was
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Options :

Narayanguru
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Question Number : 138 Question Id : 6981772589 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This state shares its border with Telangana State in the south
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Options :



Maharashtra

Kerala
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Tamilnadu

SanE et

Andhra Pradesh

™ —
. e
Yo|PIHNas

Question Number : 139 Question Id : 6981772590 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

On this day. the day and night are equal
& e, Hifen HB0 0@ Hidorr totron

Options :

September 23
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September 16

aaond 16
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September 12

~ojomb 12

Question Number : 140 Question Id : 6981772591 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The first ancient Indian surgeon was
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Options:

Patanjali
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Suaritha
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Acharya Charaka
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Question Number : 141 Question Id : 6981772592 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ancient name of Nagarjunakonda 1s
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Options :

Vijayapuri
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Question Number : 142 Question Id : 6981772593 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The largest lift i1‘1‘igation project in Telangana state 1s
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Options :

Udhayasamudram
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Kaleswaram
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Question Number : 143 Question Id : 6981772594 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Minimum Support Price for crops 1s declared by the
Hotres 805 BB HBD HEB0DRG

Options :

Local Government
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Food Corporation of India
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State Government
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Question Number : 144 Question Id : 6981772595 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In Telangana state, the Cast certificate 1s 1ssued by
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Options:

Mandal Parishad Development Officer
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Question Number : 145 Question Id : 6981772596 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first committee among the following suggested that EVS must be taught
for classes 1 and 2 and for classes 3,4 and 5 EVS shall be divided and the
concepts of social studies shall be taught as EVS-1 & the concepts of general
science shall be taught as EVS-2.
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Options :

Indian Education Commaission

PEBAH Des EDRS

Eshwar Bhai Patel Committee
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Right to Education Act-2009
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National Policy on Education-19586
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Question Number : 146 Question Id : 6981772597 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Objects in the specimens

Duplicates
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Models
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Real objects
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Question Number : 147 Question Id : 6981772598 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This assessment will be conducted without any prior announcement
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Achievement test
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Physical skills test
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Summative assessment
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Question Number : 148 Question Id : 6981772599 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following curricular approach focuses on the concept of ‘simple to complex’,
while developing the social studies lessons at primary level.
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Options :

Spiral approach
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Topical approach
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Chronological approach
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Correlation approach
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Question Number : 149 Question Id : 6981772600 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following 18 NOT related to the map reading skill?
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Options:

Locating the places in the maps
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Drawing the map effectively
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Comparing maps and making inferences
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Explaining the map with the help of directions
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Question Number : 150 Question Id : 6981772601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the summative Evaluation of Social Studies (EVS), more weightage iz being
— given to this academic standard.
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Information skills

At w e TV

wod? R0 JodEFPED
% & g

Mapping skaills

T 1
ol &mjbu"n?_u
-

#®

Conceptual Understanding
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